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I. Warm-up (4 points per question / No points deducted for wrong answers)

1. Whatis the height of the table?
Chiéu cao cua chiéc ban Ia bao nhiéu?
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A) 110cm B) 220cm C) 60cm D) 30cm E) 80cm

2. Ashley arranges five puzzle pieces below to make one mathematical expression. What
is its value?

Ashley xép 5 mdnh ghép dudi ddy thanh mét biéu thirc todn. Tinh gid tri cda biéu thire dé.

+53

A)0 B) 5 C) 10 D) 100 E) 101

3. The figure below is comprised of 16 equilateral triangles,
each with area of 4cm?. Find the area of the shaded
trapezium.

Hinh duwdi ddy duoc ghép tir 16 hinh tam gidc déu, méi hinh
tam gidc cé dién tich 4cm?. Tinh dién tich cua hinh thang duoc

té dam.
A) 28 B) 30 C) 32 D) 34 E) 36
) 1
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4. Below are three grids that contain X’s and O’s. Find the fourth grid.
Dwdi ddy la 3 hinh lwdi chira X va O. Tim hinh thu tu.
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5. Given the figure below with AB =BC =CD and angle ABC =40°. Find angle ABD?

Cho hinh duwéi déy véi AB =BC =CD va ABC =40°. Tinh géc ABD ?
B

40°

A% 'C \ °D

A) 70° B) 80° C) 75° D) 85° E) 60°

Il. Speed-up (6 points per question / No points deducted for wrong answers)

6. Martha writes down three two-digit integers. One is cube, one is prime and one is
divisible by 15. She uses the digits 3, 4, 5, 6, 7 and 8 exactly once each. Which prime
does she write?

Martha viét ba sé c6 hai chit s6. Trong dé, mét sé la s6 1Gp phwong, mét s6 la sé nguyén té va
mot sé chia hét cho 15. Biét rdng cé Gy st dung méi chir s6 3, 4, 5, 6, 7, va 8 dung mét Ian. Hai
sé nguyén t6 dé la s6 nao?

A) 53 B) 47 C) 37 D) 73 E) 83
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7. Penelope has a square piece of paper. She folds it along the dotted line three times and
cuts along the red line. Finally, she receives a letter. Which letter is it?
Penelope c6 mét to gidy hinh vubng. C6 gép to gidy ba lén theo dwong nét dirt va cat doc
duong mau dé nhw hinh duwdi déy. Luc nay, cé dy nhén dwoc mét chiy cdi. Héi dé la chir gi?

\
W/ J

A) A B) M ) w D) H E) X

8. Jack and Jill played a game for two people. In each round, the winner was awarded 2
points and the loser got 1 point. No rounds were drawn. Jack won exactly 5 rounds and
Jill had a final score of 11 points. How many rounds did they play?
Jack va Jill choi 1 tro choi cho 2 nguoi. Trong méi vong, ngudi thing duwoc 2 diém va ngudi
thua duoc 1 diém. Khéng cé vdn ndo hoa. Jack thdng ding 5 vong va s6 diém cudi cung cda Jill
la 11 diém. Hdi ho dd choi tét ca bao nhiéu vong?

A)5 B) 6 C)7 D) 8 E) 9

9. The students at Webster Middle School are raising money for after-school programs.
Cdc hoc sinh & truong trung hoc Webster quyén gdp tién cho mét churong trinh ngoai khéa.
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Which month did both grades raise the most money altogether?
Hdi thdng ndo thi cdc ban hoc sinh cé hai khéi quyén gép dwoc nhiéu tién nhat?

A) June B) July C) August D) September  E) October

3
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10.The total of each row and column is given as below. What is the value of A-0+07

T6ng méi hang va méi cét duoc cho trong bang dudi ddy. Tinh gid tri cia £ - T +O.,

AlIOl A 19
A O] 2
| O | A | 25

17 | 25 | 27

A) 13 B) 14 C) 15 D) 16 E) 17
lll. Challenge (8 points per question / No points deducted for wrong answers)

11.The water level in a port city rises and falls on a certain day as shown in the figure. For
how many hours was the water level above 40 cm on that day?
Muc nuréc & mét thanh phé cdng tdng va giam trong mét ngay duwoc thé hién trong hinh dudi.
H6i muc nudc ddng cao hon 40cm bao nhiéu gio trong ngay hém dé?
100
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Water level (cm)

01 2/3 45 6 7 8 9 1011 1213 14 15 16 17 18 19 20 21 22 24
-20

-40

Time (hours)

A)5 B) 5.5 )9 D) 9.5 E) 11

12.In the playground, they build a slide by using an inclined plane and identical cubic
blocks, each of side length 30cm. All top surface of the slide is painted white as in the
figure below. Find the area of the painted region in m2.
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Trong sén choi tré em, ngudi ta x4y mot chiéc cau trwot bdng mét mét phdng nghiéng va cdc
khéi Igp phuwrong y hét nhau, méi khéi cé canh 30cm. Toan bé mdt trén cla céu trugt duoc son
trdng nhw hinh vé. Tinh dién tich phén duwoc son dé theo m2.

2.8m
A) 19.2m? B) 0.84m? C) 16.8m? D) 1.68m? E) 1.92m?

13.David wants to complete the diagram so that
each of the nine circles contains one of the digits
from 1 to 9 and each contains a different digit.
Also, the digits in each line of four circles must
have the same total. What is X?
David muén hoan thanh so d6 sao cho méi hinh tron
chira 1 chir s6 tir 1 dén 9 va méi hinh tron chira cdc
chi? s6 khdc nhau. Cdc chi¥ sé trong bén hinh tron
trén méi duong thdng phdi cé téng bdng nhau. Hoi
X la bao nhiéu?

A) 6 B)7 C)8 D)9 E) None of the above

14.Refer to the pattern below. If the figure has 50 levels, then which unit digit does the

sum of all numbers end with?
Quan sat quy ludt cda hinh bén. Néu hinh dé cé 50 téng thi téng tdt cd cdc sé trong hinh ¢d chiy
sé tdn cung la bao nhiéu?

A)3 B)5 Q7 D)9 E) None of the above

5
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15.Teacher gives Mickey and Donald two square papers of 100cm2 each. They arrange

them like the patterns below. Given that their area difference is 60cm?. Find their
perimeter difference.

Cé gido dwa Mickey va Donald hai t& gidy hinh vuéng, mdi t& dién tich 100cm2. Hai ban sdp
xép ching thanh hai hinh dwdi ddy. Biét hiéu dién tich cua hai hinh la 60cm?. Tinh hiéu chu vi
hai hinh dé.

Pattern 1 Pattern 2

A) 10cm B) 12cm C) 14cm D) 16cm E) None of the above

IV. Star of hope (10 points per question/ 10 points deducted for wrong answer)
In this part, you should write your answer on the answer sheet.

16.Greg starts with 10 points in a riddle game. For each question, if he answers correctly,
his score doubles. If he doesn’t answer, his score is added two points. If he answers
wrongly, his score is added 1 point. In the end of the game, he gets 999 points. At least
how many questions did he get?

Greg bdt ddu mot tro choi gidi d6 vdi 10 diém. Trong méi cu hdi, néu trd 10 ding thi anh Gy duorc
gdp doi s6 diém. Néu khéng trd 10i thi duoc cdng 2 diém. Néu tré 1 sai thi duoc cong 1 diém. Khi
két thuc tro choi, anh dy ¢6 999 diém. Héi anh Gy dé nhén duoc it nhét bao nhiéu céu héi?

Correct

H ) -
[ ] [ ]
__No | +2
‘ answer
— 1 +1
Wrong
Congratulations!

This is the end of the test. Please review the answers carefully before submission.
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